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M.A. (Fourth Semester)
EXAMINATION, May - June, 2022

ECONOMICS
Paper Fourth

(Economics of Social Sector)

Time : Three Hours] [Maximum Marks:80

     
Note: Attempt all sections as directed.

 
(Section-A)

 
(Objective/Multiple Choice Questions)

   
Note: Attempt all questions.
  
Choose the correct answer-


      

(A)  
(B)  
(C)   
(D) 

P.T.O.
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Human Development index is calculated-

(A) By UNDP

(B) By UNEP

(C) By World Bank

(D) None of the above

 

(A) 

(B) 

(C)  

(D)  

Net  property is one of the characteristics of right mar-
kets-

(A) Breadth

(B) Contraction

(C) Private ownership

(D) None of the above

    

(A)   

(B)  

(C)  

(D)   
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Give the principle of common property resource-

(A) Prof. Eliver Ostrom

(B) Prof. Jewanse

(C) Prof. Kuznets

(D) None of the above

        


(A) 
 

(B)  


(C)           
 

(D)  

One of the elements of the investment process carried
out on people under human capital.

(A) A fair share of the knowledge acquired by the previ-
ous generation should be passed on to the new gen-
eration

(B) The new generation must understand what they have
to learn from the former generation.

(C) To encourage people to have completely new ideas,
product and processes.

(D) All are above
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         

(A)  

(B) 

(C)   

(D)  

Which economist has considered education as a kind of
capital-

(A) Adam Smith

(B) Walaras

(C) Prof J.K. Mehta

(D) None of the above

 

(A) 

(B) 

(C) 

(D)  

Any one important factor in the context of demand and
supply of education-

(A) Efficiency

(B) inequality

(C) IlIiteracy

(D) None of the above
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    (GEM)     


(A)    

(B)    

(C)    

(D) 

India is in which category of human development in gen-
der empowerment measures-

(A) Medium Human development category

(B) Higher Human Development category

(C) Lower Human Development category

(D) None of the above

 

(A)  

(B)   

(C)  

(D) 

The environmental performance index is a better index to
measure

(A) managerial Index

(B) Fishers Index

(C) Weighted Index

(D) None of the above

P.T.O.
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     

(A)  

(B)  

(C)  

(D)  

There is a third instrument of financial incentive-

(A) Environment protection

(B) Price rationing

(C) Pollution tax

(D) None of the above

 


(A)   

(B)   

(C)   

(D)  

If there is no changes in the characteristics of the eco-
logical process under renewable and non renewable
resourus then it is called-

(A) Density Dependent Growth

(B) National Growth density

(C) Demographic development density

(D) None of the above
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 

(A)  

(B)  

(C)  

(D) 

Industrial production contributes to the green house ef-
fect

(A) 6 Percent

(B) 16 Percent

(C) 5 Percent

(D) None of the above

      

(A)   

(B)  

(C)   

(D) 

What would happen on earth in the absence of the ozone
umbrella?

(A) The circle of life will end

(B) Life will be in hapiness

(C) Life circle will be protected

(D) None of the above

P.T.O.
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       

(A)      

(B)      

(C)      

(D)  

At what distance does ozone depletion occur in the at-
mosphere?

(A) Between 12 kms to 50 kms

(B) Between 18 kms to 40 kms

(C) Between 20 kms to 60 kms

(D) None of the above

    

(A)   
 

(B)      

(C) 

(D)

The objective of Green Economy is:

(A) Maintaining human as well as reducing environmen-
tal impact

(B) To reduce the carbon and pollution

(C) Increasing the efficiency of energy and resources.

(D) All of the above



[9]

F - 885

F F1

  

(A)  

(B) 

(C) 

(D) 

What is the phase from F to, F1 in the above diagram
under energy efficiency and environment.

(A) Energy Saving

(B) Improving energy efficincy

(C) Energy reforms

(D) None of the above

a1

a

P.T.O.
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 
  

(A)
  

  

(B)
  

   

(C)
   

  

(D)  

The formula for measuring the index of life time resources
is based on the static reserve index.

(A)
Economic resources
Annual consumption

(B)
Annual consumption
Economic resources

(C)
Total Natural resources
Annual consumption

(D) None of the above
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  

(A)   

(B)     

(C) 

(D) 

Pigovian Tax is related to-

(A) Reduce the cost pollution

(B) Increased the cost of pollution

(C) from pollution control

(D) None of the above

    

(A) MCP = MBp

(B) MCR = MCP

(C) =

(D) 

P.T.O.
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The even marginal principle of pollution occurs when

(A) MCP = MBp

(B) MCR = MCP

(C) Production = Cost

(D) None of the above

          

 

(A)    

(B)  

(C)  

(D)  

One of the major factors affecting the distribution of popu-

lation-

(A) Physical or natural factors

(B) Social factor

(C) Economic Factor

(D) None of the above
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   



(A)  

(B) 

(C)  

(D) 

Which of the following components are included in the

measurement of national capital

(A) Natioan GNP

(B) Home made Product

(C) National GDP

(D) None of the above

P.T.O.
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 

(Section-B)

  

(Very Short Answer Type  Questions)



   

Note: Attempt all questions in 3 Sentence.

    

What is climate change?

    

What are the causes of global warming?

 

What is ozone depletion?

    

Write definition of green economy.

  

What is sustainable development?
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   

What is public goods?

     

Write the Human poverty index.

    

Describe the Malnutrition.

 

(Section-C)

  

(Short Answer Type  Questions)



    

Note: Attempt all questions in 75 words.

     

What are the Human Capital vs. Physical Capital?

    

What are the alternative sources of energy? What are
importance of these.

P.T.O.
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  
   Q    Q1    


When it is a condition of uncertainity, what will be the con-
dition Q1 in relation to Pollution control as compared to Q
in the diagram below.

      

What are the merits and demerits of Human Capital?
Write.

        

What is the trend of carbon flow in India?

        

Explain the technology based regulation in pollution con-
trol?

T
T2

B

A
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    

Write short notes on the green economy.

        



The diagram below is related to the use of non-natural
resources from the hypothesis point of view, in which four
stages are given. Explain all the four stages based on
diagram.

P.T.O.
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 

(Section-D)

  

(Long Answer Type  Questions)



   

Note: Attempt all questions in 150 words.

 
 

What are the performance environmental indicators?
Write importance of these.

/OR

       

Explain to Kuznet's curve in the point of environmental
approach.

 
  

Write your own thoughts, on the renewable resources
with the classifying natural resources.
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/OR

       
 

Explain with the help of diagrams to the economic incen-
tive (under the environmental protection)

           
  

Considering the condition of production as constant, the
emission of production and polution drawn in the diagrams.

    


Analyse the diagram as given above and tell what will be
the social benefit?

/OR

P.T.O.
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 (Determinant of health)

 (Gender inequalities)

    

Write short notes on the both above

 

Explain with the digaram of optimum uses the natural re-
sources.

/OR




What is Human Poverty Index? Give your opinions in the
context of India.


